N3 &4 ¢3¢ £84iFe ¢ [#54] 113/1/25 (2w ) v R4

4= (08:458 % 0 09: 00 )

(fj> A i/ e i g A i/ et (I;j)
1 5 4 /1 & B¢ 1500 = = pd st pEiig 12 ~/2 % 2
3 2 4/1 & B¢ 1500 2= pod S 4 +/1 & 4
6 9 +/2 % B¢ 200 = 2R &R 17 +/3 & 6
T TA/] e ® 7 200 = R EFPEAR 10 ~/2 & 8
9 13 +/2 e B 50 =2 pd AR 19 +/3 & 10
11 14 ~/2 e ® 7 00 e pd PR 16 * /2 ‘e 12
13 8 4/1 % B P 50 = T kA 17 +/3 % 14
15 9 +/2 % ® ¢ 00 = TR 16 ~ /2 & 16
17 6 +/1 & B P 200 = = FrsltpEia-g 17 +/3 % 18
19 5 +/1 & B 7200 2 Frt AR 10 /2 e 20

T (13:158 ¢ 0 13:30 0 )

SNIEY V21 7 1 ¥ 2T I
21 8§ A /1 %k B 200 22 pd AR 12 2 /2 & 22
23 11 ~/2 = ® 7 200 2% pd LR 12 +/2 = 24
25 o 4/1 ke B¢ 200 = = it s g 16 +/2 = 26
27 24/1 & B¢ 200 & T g TA/] 28
29 8§ A/1 %k B¢ 50 = ¢ Myt 16 ~/2 & 30
31 12 ~+/2 & ® ¢ 50 = v PR 13 ~+/2 & 32
33 9 4/2 % B¢ 100 = = gkt pEil g 16 +/2 = 34
35 9 4/2 % ® 7 100 = @ RN 12 +/2 = 36
37 6~ /1 e BlY 4X100 = <R & V4 AR 6 +/1 % 38
39 o A/1 e B¢ OAKI00 2 R AR AR 5 A/1 e 40




113 & 473 28 pdd ¢ [#4] 113/1/26 (A9 ) v FHF 4

4= (08:458 % 0 09: 00 )

(fj) A e/ e #ic bi A i/ e dic (I;;: )
41 10 % /2 ‘e Be 800 == pd st 16 + /2 & 42
43 4 A /1 & B¢ 800 2% pd S pEAFE TA/1 e 44
45 11 ~/2 % Bl 50 2 = gest it pRil 19 /3 & 46
47 11 ~/2 % B 750 & AR 16 ~ /2 & 48
49 Tx/1 %= B 100 = pod sl 18 4 /3 & 50
51 10 % /2 ‘e ® 7 100 == pod SR 15 4 /2 & 52
53 Tx/1 % B¢ 400 = =R &L 14 4 /2 & 54
55 24/1 % ® ¢ 400 = 2R &SRR TA/1 e 56
57 6 +/1 % B 4X100 = = pod 44 PR 6 %/1 % 58
59 6 %/1 % ® 7 OAX100 2 = pd SRS LR 5+/1 % 60

TE (13158 % 013130 F )

(f: ) A e/ o Hic b1 A i/ e ¥ (I;j>
61 8+ /1 % BP 400 2= pd PR 14 4 /2 & 62
63 TA/1 e ® ¢ 400 == pd AR 12 4 /2 & 64
65 9 +/2 % B 100 = = Frst kg 15 4 /2 & 66
67 TA/1 & B¢ 100 2 = pestst R 15 4 /2 & 68
69 6 %/1 % B¢ 100 = = dpst e pE il g 10 /2 & 70
71 4 4/1 % B¢ 100 2 % st 15 4 /2 & 72
73 6 %/1 % B 200 = 2 g 17~ /3 & 74
75 T4/1 & B¢ 200 & RS EARE 10 ~ /2 & 76
T 6 %/1 % BlP 4%200 = = g od a4 L 6 +/1 % 78
79 b +/1 % B0 Ax200 2% pd SRS PR 4 4 /1 e 80




